
 Raummaße ohne Dezimalzahlen 1L

1. Wandle um:

7 m³ = 7 000  dm³                                  ½ dm³  = 500 cm³  

19 dm³  = 1 900 cm³                              18 m³  34 dm³  = 18 034 dm³

493 292 cm³ = 493 dm³ 292 cm³            ¾  m³  = 750 dm³ 

14 m³ 8 dm³  = 14 008 dm³                          84 175 m³  = 84 m³ 175 dm³  

82 100 dm³ = 82 100 000 cm³                     6 ½ m³ = 6 500 dm³ 

9 cm³ 66 mm³  = 9 066 mm³                  33 929 cm³  = 33 dm³  929 cm³

4 dm³ 3 cm³ = 4 003 cm³                       2 017 dm³  = 2 m³  17 dm³ 

15 dm³  = 15 000 cm³                             898 000 cm³ = 898 dm³  

2. Wandle um:

4 m³ = 4 000 dm³ = 4 000 000 cm³  

½ m³ = 500 dm³ = 500 000 cm³  

4 000 000 mm³ = 4 000 cm³ = 4 dm³  

9 m³ 4 dm³ = 9 004 dm³ = 9 004 000 cm³  

5 ¾ dm³  = 5 750 cm³ = 5 750 000 mm³  

64 m³  = 64 000  dm³  = 64 000 000 cm³ 

3. Schreib mehrnamig (je 2 Punkte):

63 209 032 cm³ = 63 m³ 209 dm³ 032 cm³       

4 008 993 008 mm³ = 4 m³ 8 dm³ 993 cm³ 8 mm³ 
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